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   -  - 
    
Candidates must write the Code on 
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       -    11   

 -            -  -    

       -  34    

         ,       

  -     15        -     10.15  
   10.15   10.30     -         
-       

 Please check that this question paper contains 11 printed pages. 
 Code number given on the right hand side of the question paper should be written on the 

title page of the answer-book by the candidate. 

 Please check that this question paper contains 34 questions. 

 Please write down the Serial Number of the question before attempting it. 
 15 minute time has been allotted to read this question paper. The question paper will be 

distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the students will read the 
question paper only and will not write any answer on the answer-book during this period. 
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 (i)      
  1  10          1       
        
             

General Instructions : 
(i) All questions are compulsory. 

(ii) Questions from serial number 1 to 10 are Multiple Choice Questions carrying one 
mark each. You have to write the correct option in your answer-book. 

(iii) Marks allotted to other questions are indicated against each of them. 

 

1.          1 

 ()    

 ()    

 ()   

 ()    

 This one of the following is not a revenue expenditure : 

 (a) Payment of rent 

 (b) Payment of salary 

 (c) Purchasing a machine 

 (d) Repairing of the building 

 

2.      1 

 ()     

 ()     

 ()     

 ()     

 Raising bank loan is a  

 (a) Capital receipt 

 (b) Revenue receipt 

 (c) Capital expenditure 

 (d) Revenue expenditure 
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3.     1 

 ()   

 ()   

 ()   

 ()  ()  

 Depreciation is related to 

 (a) Cash 

 (b) Debtors 

 (c) Machinery 

 (d) Stock 

 

4.          1 

 ()     

 ()     

 ()    

 ()       

 The amount of depreciation remains constant year after year under : 

 (a) Written down value method 

 (b) Straight line method 

 (c) Both the above 

 (d) None of the above  

 

5.                    
    1 

 ()           

 ()           

 ()          

 ()     



135 4 C/1 

 A bank reconciliation statement is prepared to know the causes for the difference 
between the balances as per 

 (a) Pass book and bank column of cash book 

 (b) Pass book and cash column of cash book 

 (c) Cash and Bank columns of the cash book 

 (d) None of the above 

 

6.             ‘ ’      
    ?  1 

 ()  

 ()  

 ()  

 ()  

 How many days are added as ‘Days of Grace’ while counting the date of maturity of a 
bill of exchange ?  

 (a) One 

 (b) Two 

 (c) Three 

 (d) Four 

 

7.                      1 

 ()  

 ()  

 ()     

 ()    

 Assuming no drawings, if closing capital is less than opening capital then it denotes 

 (a) Profit 

 (b) Loss 

 (c) No profit – No loss  

 (d) Nothing 
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8.     1 

 ()   

 ()   

 ()   

 ()   

 Goodwill is 

 (a) an asset 

 (b) an expenditure 

 (c) a liability 

 (d) an income  

 

9.     1 

 ()   

 ()   

 ()  

 ()  
 Trading A/c shows  

 (a) Net profit 

 (b) Gross profit 

 (c) Assets 

 (d) Liabilities 

 

10.           1 

 ()    

 ()   () 

 ()   

 ()  
 This one of the following is a business liability : 

 (a) Cash balance 

 (b) Bank overdraft 

 (c) Bank balance 

 (d) Debtors 
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11.      ? 2 

 What is deferred revenue expenditure ? 

 

12.          2 

 Name any two methods of depreciation. 

 

13.         ? 2 

 What is the need of preparing Bank reconciliation statement ? 

 

14.     ? 2 

 What is Bill of Exchange ? 

 

15.        ? 2 

 What do you mean by incomplete records ? 

 

16.          ?     2 

 How many parties can be there in a Bill of Exchange ? Name them. 

 

17.   ` 50,000       ` 2,000  -  ` 500    
   5       ` 7,500         
    3 

 A computer is bought for ` 50,000. ` 2,000 were spent on its transportation and ` 500 
on its loading and unloading. Its useful life is 5 years after which it can be sold for       

` 7,500. Calculate the depreciable value of the computer. 

 

18.                 3 

 State any three causes of difference between the balances shown by cash book and 
pass book. 

 

19.         3 

 Write any three advantages of Bill of Exchange. 
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20.        ? 3 

 What are the disadvantages of keeping incomplete records ? 

 

21.        ? 3 

 Why does a trader keep incomplete records ? 

 

22.     ?      ? 3 

 What is Trading Account ? Why is it prepared ? 

 

23.          4 

 Distinguish between capital expenditure and revenue expenditure. 

 

24.       -    4 

 Give any two examples each of Capital receipt and Revenue receipt. 

 

25.      31 , 2017         4 

 (i)     ` 8,400 

 (ii)            ` 4,000. 

 (iii)          ` 6,000. 

 (iv)        ` 500. 

 From the following particulars, prepare bank reconciliation statement as on December 

31, 2017 : 

 (i) Balance as per cash book ` 8,400. 

 (ii) Cheque issued but not presented for payment ` 4,000. 

 (iii) Cheque deposited but not collected ` 6,000. 

 (iv) Bank charges debited by the bank ` 500. 
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26.              5 

                                                                          ` 

     1-4-16    1,20,000 

     31-3-17    2,00,000 

          50,000 

          30,000 

 Calculate profit or loss made by a garment seller from the following information : 

                                                                          ` 

 Capital at the beginning of the year i.e. 1-4-16  1,20,000 

 Capital at the end of the year i.e. 31-3-17  2,00,000 

 Capital brought in by proprietor during the year  50,000 

 Withdrawals by the proprietor during the year  30,000 

  

27.     ?         ? 5 

 What is statement of affairs ? How is it different from Balance Sheet ? 

 

28. 31 , 2017           5 

     ` 

   90,000 

 12,00,000 

 9,10,000 

 1,00,000 

 2,00,000 

   2,00,000 

 (31-12-17) 3,00,000 

 From the following information prepare Balance Sheet as on 31st December, 2017 : 

    ` 

Cash and bank 90,000 

Capital 12,00,000 

Building 9,10,000 

Creditors 1,00,000 

Drawings 2,00,000 

Profit of the year 2,00,000 

Stock (31-12-17) 3,00,000 
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29.   ` 1,80,000  1 , 2014        ` 40,000    
   4       ` 20,000         
        3          31 
       5 

 A machine was purchased for ` 1,80,000 on 1st January, 2014 and ` 40,000 were spent 

on its installation. It has a useful life of 4 years after which it can be sold for ` 20,000. 

Show machinery account for 3 years if the firm follows straight line method of 

depreciation. Accounts are closed on 31st December each year. 

 

30.       ?      ? 5 

 What do you mean by depreciation ? What are its causes ? 

 

31.         /    5 

     ` 

  20,000 

  15,000 

 2,50,000 

 4,30,000 

 10,000 

     20,000 

 From the following figures, calculate gross profit/loss for a year : 

      ` 

Opening stock 20,000 

Closing stock 15,000 

Purchases 2,50,000 

Sales 4,30,000 

Wages 10,000 

Carriage inward 20,000 
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32.                   ` 25,000  
                  
                6 

 

         31-7-2016        

 (i)      ` 35,350 

 (ii)          31-7-16  ` 4,450 

 (iii)     31-7-16        ` 6,250 

 (iv)         ` 2,500 

 (v)         ` 200 

 You have to prepare a Bank Reconciliation statement. Balance as per Pass Book is 
given. It shows an overdraft of ` 25,000. Give two transactions the amount of which 
will be added to it and three transactions the amount of which will be deducted 
therefrom for ascertaining the balance as per cash book. 

OR 

 From the following particulars of a company, prepare bank reconciliation statement as 
on 31-7-2016 : 

 (i) Balance as per pass book ` 35,350. 

 (ii) Cheques deposited into bank but not credited upto 31-7-16 ` 4,450. 

 (iii) Cheques issued but not presented for payment till 31-7-16 ` 6,250. 

 (iv) Bank credited ` 2,500 for receiving dividend. 

 (v) Bank charges debited by bank ` 200. 

 

33.               6 

 

   1-1-2016    ` 1,00,000             
      ,             
              

 State the essential features of a Bill of Exchange and give a specimen thereof. 

OR 

 On 1-1-2016 Puneet sold goods worth ` 1,00,000 to Deepak on credit. For the amount 
he drew a bill on Deepak for three months, which Deepak accepted. On due date the 
bill was met. Give entries in the Journal of Puneet and Deepak. 
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34. -     ?      ?      -   
   (  )           (  ) 
    6 

     

      

 (i)  

 (ii)   

 (iii)   

 (iv)   

 (v)  

 (vi)  

 What is a Profit & Loss Account ? Why is it prepared ? State any two items which will 
be shown on the credit side of Profit and Loss A/c. and four items which will be 
shown on its debit side. 

OR 

 Explain the following items : 

 (i) Assets 

 (ii) Liabilities  

 (iii) Closing Stock 

 (iv) Bank Overdraft 

 (v) Capital 

 (vi) Drawings 

____________   
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